
 

 

NKJ CSEET MARATHON TEST SERIES -1 
ECONOMICS AND BUSSINESS ENVIRONMENT 

(1-15 MCQs x 2 Marks = 30 Marks) 
(16 -35 MCQs x 1 Mark = 20 Marks) 

1. According to _____________, other things being equal, if price of commodity falls, 
the quantity demanded of it will rise, and if price of commodity rises, its quantity will 
decline.  
a) Law of Demand   
b) Law of Supply  
c) Law of Diminishing Marginal Utility 
 d) Law of Increasing Marginal Utility  



 

 

 
 
2. When a small change in price of a product causes a major change in its 
demand, it is said to be ______________  
a) Relatively inelastic demand 
 b) Pefectly elastic demand   
c) Perfectly inleastic demand   
d) Unitary elastic demand  
 
 
 



 

 

 
 
 
3. Which of the following is not the method of measuring national income?   
a) Product Method 
 b) Income Method   
c) Expenditure Method    
d) Profit Meth 
 
 
 



 

 

 
 
 4. The formula for computing Real GDP is:   
a) GDP for the Current Year x Base Year (100) 
 b) GDP for the Base Year x Current Year Index   
c) GDP for the Current Year x Base Year (100) / Current Year Index  
d) GDP for the Current Year / Base Year (100) 
 
 
 
 



 

 

 
 
 
5. The components of Capital Budget are: 
 a) Capital Receipts and Capital Expenditure   
b) Capital Receipts and Revenue Receipts   
c) Only Capital Expenditure   
d) Only Capital Receipts  
 
 
 



 

 

 
 
6. Which of the following is not covered under the commercial banks? 
 a) Public sector banks    
b) Private sector banks    
c) Reserve Bank of India   
d) Foreign banks  
 
 
 
 



 

 

 
 
7. ___________ is aimed at promoting exports of services from India by providing 
duty scrip credit for eligible support  
a) Services Exports from India Scheme    
b) Services Exports from States Scheme    
c) Services Exports Support Scheme    
d) Services Exports Surety Scheme 
 
 
 



 

 

 
 
 8. ___________ could be in the form of either establishing business operations 
or by entering into joint ventures by mergers and acquisitions, building new 
facilities etc. 
 a) Foreign Portfolio Investment 
 b) Foreign Direct Investment  
c) Foreign Institutional Investment  
d) Foreign Innovative Investment  
 
 



 

 

 
 
 
9. Which of the following is / are the component /s of business environment?  
a) Political Environment   
b) Economic Environment   
c) Social Environment   
d) All of the above 
 
 
 



 

 

 
 
  
10. The Competition Commission of India (CCI) was established under the 
_____________ 
 a) Companies Act, 1956 
 b) Competition Act, 2002  
c) Consumer Protection Act, 1986  
d) Indian Contract Act, 1872 
 
 



 

 

 
 
11. 1974-1979 is _____ plan 
a) fifth 
b) third 
c) fourth 
d) plan holiday 
 
 
 
 



 

 

 
 
12. green revolution is also known as _____ 
a) rice revolution 
b) wheat revolution 
c) agricultural revolution 
d) great revolution 
 
 
 
 



 

 

 
 
 
13. MUDRA scheme is for_____ 
a) MSME sector 
b) MNCs 
c) to finance IPO 
d) none 
 
 
 



 

 

 
 
 
14. GDP M/P  is =___________ 
a) GDPF/C + indirect tax-subsidy 
b) GDPF/C-indirect tax +subsidy 
c)NDPm/p+ indirect tax-subsidy 
d) None 
 
 
 



 

 

 
 
15. If supply increases proportionately more than demand then price ____ and 
quantity _____ 
a) increases , decreases 
b) decreases ,increases 
c) decreases,increases 
d) increases, increases 
 
 
 



 

 

 
 
16.  _________ is India ‘s first finance minister 
a) Morarji desai 
b) Indira Gandhi 
c) Nirmala Sitharaman 
d) Shanmukhan chetty 
 
 
 
 



 

 

 
17.  if government spend 1000 cr on metro maintenance the it would be included 
in  
a) revenue expenditure 
b)capital expenditure 
c) revenue receipts 
d) capital receipts 
 
 
 
 



 

 

 
18. who of the following can apply for stand  up India loan 
a) women entrepreneur 
b) NBFC 
c) credit society 
d) cooperative bank 
 
 
 
 
 



 

 

 
 
19. First cooperative bank of India is 
a) Gour Gramin Bank 
b) Prathama bank 
c) Naveen bank 
d) suryodaya bank 
 
 
 
 



 

 

 
20. Imperial bank was founded with three banks --- Bank of Madras , Bank of 
Bombay and ____ 
a) Bank of kolkata 
b) Bank of Calcutta 
c) Bank of Bengal 
d) Bank of Bangladesh 
 
 
 
 



 

 

 
 
21. Bhavish Agarwala is founder of _____ 
a) Zomato 
b) swiggy 
c) OYO rooms 
d) Ola cabs 
 
 
 
 



 

 

 
 
22. SFURTI stands for---- 
a) scheme for regeneration of urban rural traditional industries 
b) scheme for urban and rural technical industries 
c) scheme for urban and rural trade related institutes 
d) scheme for urban and rural development of teachers  of India 
 
 
 
 



 

 

 
 
 
 
23. what is the main aim of NITI Aayog 
a) planning 
b) implementation 
c) research 
d) all of the above 
 
 



 

 

 
 
 
24. who of the following is responsible for PDOT programme 
a) Ministry of MSME 
b) Ministry of External affairs 
c) DPIIT 
d) all of the above 
 
 
 



 

 

 
 
25. A firm which is in a perfectly competitive market finds that MR is £2.00 and 
MC is £2.50. In order to maximise profits, which of the following is MOST likely 
to happen? 
a) A Price will be unchanged and output will rise  
b) Price will be unchanged and output will fall 
c) Price and output will both be unchanged 
d) Prices will fall and output will rise 
 
 



 

 

 
 
26. Which of the following markets is closest to the model of perfect 
competition?  
a) High street coffee shops  
b) High street banks  
c) Car manufacturing  
d)Foreign exchange market 
 
 
 



 

 

 
 
 
27. A firm is operating in a perfectly competitive market and is making 
supernormal profits. What is the likely outcome for this firm in the long run? 
a) It will leave the industry  
b) The price of the product will rise 
c) The firm’s output will fall and the price will fall 
d) Both the price and the firm’s output will remain unchanged 
 
 



 

 

 
 
 
28..The Finance Bill can be introduced only in ____ 
 a) Lok Sabha 
b) Rajya sabha 
c )Anysabha 
d )Cannot say 
 
 
 
 
 



 

 

 
 
29.Any expenditure incurred from  “this “  fund requires a subsequent approval 
from Parliament and the amount withdrawn is returned to the fund from the 
consolidated fund. 
a)Consolidated fund 
b ) contingency fund 
c )Public account 
d )None 
 
 
 
 



 

 

 
 
30.DTF score improved from 38.80 to _____ in terms of construction permits 
a)28 
b)100 
c)73 
d)0 
 
 
 
 
 
 



 

 

 
 
 
31.____________ allows the traders to file all documents electronically 
a)Shramsubidha portal 
b)SANKALP 
c)E -sanchit 
d)None 
 
 
 
 
 



 

 

 
 
32.Which one of the following is the single form for company incorporation 
a)E-sanchit 
b)AGILE 
c)SANKALP 
d)SPICe 
 
 
 
 
 
 



 

 

 
33.India has shown improvement in which of the following 
a)Starting a business 
b)Trade across borders 
c)Paying taxes 
d)All of the above 
 
 
 
 
 
 
 



 

 

 
34.What is the rank of India in terms of getting electricity in 2019 
a)77 
b)55 
c)24 
d)36 
 
 
 
 
 
 
 



 

 

 
 
35.SPICe stands for 
a)Simplified proforma for incorporating company electronically 
b)Simple program for indian company 
c)Simple performance of Indian companies in export 
d)Simple proforma for incorporating company in exports 
 
 
 
 
 
 



 

 

NKJ CSEET MARATHON TEST SERIES -1 
CURRENT AFFAIRS 

(1-5 MCQs x 2 Marks = 10 Marks)  

(6 -15 MCQs x 1 Mark = 10 Marks) 

1. Union Finance Minister Smt. Nirmala Sitharaman announced Economic Stimulus 
package of Rs. 20 Lakhs crore in how many tranches? 
 A) Six                   B) Four  
C) Three               D) Five 



 

 

 2. Ministry of Labour& Employment had decided to reduce the Employees’ provident fund contributions to ____% from the existing 12% for three months till July 2020  A) 5  B) 10  C) 8  D) 6  
 



 

 

 

3. Recently, US based equity giant KKR has bought _____% stake in Jio platforms.  

A) 7.32  

B) 9.32  

C) 2.32  

D) 5.32  

 

 



 

 

 
 
4. Who is the present union Health Minister who recently appointed as the 
chairman of the World Health Organization (WHO) 34-member Executive Board?  
A) Dr. Harsh Vardhan  
B) Nirmala Sitharaman  
C) Piyush Goyal  
D) Amit Shah  
 
 
 



 

 

 
 
5. On January 2, 2020, Prakash Parv was celebrated as birth anniversary of which 
Sikh Guru?  
A) Guru Gobind Singh  
B) Guru Har Rai  
C) Guru Teg Bahadur  
D) Guru Harkrishan Sahib  
 
 
 



 

 

 
 
6. Name the 1st Indian tennis player who has won the Fed Cup heart award 2020 
for Asia/Oceania Zone? 
 A) Rohan Bopanna  
B) Vijay Amritraj  
C) Leander Paes  
D) Sania Mirza  
 
 
 



 

 

 
 
7. In the month of May 2020, which of the following tropical cyclone touched 
Odisha and West Bengal? A) Luban  
B) Megh  
C) Fani  
D) Amphan 
 
 
 
 



 

 

 
 
8. Central government has announced to raise the Foreign Direct Investment (FDI) 
limit in defence manufacturing under automatic route from 49% to _______%.  
A) 74  
B) 65  
C) 100  
D) 51 
 
 
 



 

 

 
 
9. Para athlete Deepa Malik (1st women to win medal in Paralympic games) who 
announced retirement is associated with which sports? 
 A) Triple Jump  
B) Long jump  
C) Shot Put  
D) Middle distance running 
 
 
 



 

 

 
 
 
10.Who is the present Governor of Reserve Bank of India? 
 A) Raghuram Rajan 
 B) Shaktikanta Das  
C) Urjit Patel 
 D) Tapan Roy  
 
 
 



 

 

 
 
 
11. Name the person who has been appointed as the chairman of NABARD 
recently till July 2022 ? 
 A) Harsh Kumar Bhanwala 
B) P.V.S Suryakumar  
C) Govinda Rajulu Chintala  
D) Shaji K V  
 
 



 

 

 
 
 
 
12. Name the person who authored the book titled “Wuhan Diary: Dispatches 
from a Quarantined City”?  
A) Yiyun Li  
B) Hua Yu  
C) Lu Xun  
D) Fang Fang 
 



 

 

 
 
 
 
13.Name the programme which was launched for online education (1 to 12) 
announced under “Atmanirbhar Bharat Abhiyaan”.  
A) PM e-Abhiyan  
B) PM e-Vidhya  
C) PM e-Suraksha  
D) PM e-Kalyan  
 



 

 

 
 
14. From which Indian organization, the four Indian Air Force Pilots have been 
selected for training in Russia for the ambitious Gaganyaan Manned Space 
Mission, that is going to be launched in 2022? 
 A) Indian Air Force (IAF)  
B) The Marine Commandos (MARCOS)  
C) Indian Space Research Organisation (ISRO)  
D) Indian Navy  
 
 



 

 

 
 
15. The central government has launched India’s biggest evacuation plan to bring 
back Indian citizens stranded in foreign countries. What is the name of the 
mission? 
 A) Vande Bharat Mission  
B) Stranded Indians Mission  
C) Smart India Mission  
D) Bharat NagrikMissio 
 

 



 

 

NLK CSEET MARATHON TEST SERIES -1 
           BUSSINESS COMMUNICATION 

(1-15 MCQs x 2 Marks = 30 Marks)  

(16 -35 MCQs x 1 Mark = 20 Marks) 

1.Plural form of memorandum 
(a) Memorand 
(b) Memoranda 
(c) Both (a) & (b) 
(d) None of the above 
 



 

 

 
 
 
 
 
2. Full form of ESOP 
(a) Employee Sale Option Plan 
(b) Employee Stock Option Proceder 
(c) Employee Stock Option Plan 
(d) None of the above 
 
 
 
 



 

 

 
 
 
3. Memos may relate to 
(a) Show Cause Notice 
(b) Charge – sheet 
(c) Both (a) & (b) 
(d) None of the above 
 
 
 
 



 

 

 
 
4. ……………..is a note or record for future use 
(a) Office circulars 
(b) Office Orders 
(c) Memo 
(d) Memorandum 
 
 
 
 
 



 

 

 
 
 
5. What does Office Order do not include? 
(a) Order No 
(b) Subject 
(c) Date 
(d) Undersigned 
 
 
 
 



 

 

 
 
 
6. What does a circular do not include? 
(a) Circular No 
(b) CC 
(c) Date 
(d) Undersigned 
 
 
 
 



 

 

 
 
 
7. …………………is used for disseminating information to a large number of 
employees. 
(a) Office Circulars 
(b) Office Order 
(c) Office Notice 
(d) None of the above 
 
 
 



 

 

 
 
 
8. …………………are preferred when one needs to convey information in 
writing. 
(a) Office Order 
(b) Office Note 
(c) Office Circular 
(d) Memorandum 
 
 
 



 

 

 
 
9. ..........is devoid of salutation. 
(a) Office Order 
(c) Office Note 
(b) Office Circulars 
(d) Memo Report 
 
 
 
 
 



 

 

 
 
10. ………………carry a bold, underlined heading to help us identify them 
(a) Office Note 
(b) Memo Report 
(c) Office Order 
(d) Office Circular 
 
 
 
 
 



 

 

 
 
 
11. Passive verb is preferred in which type of Inter - department 
communication 
(a) Office Order 
(b) Memo Report 
(c) Office Note 
(d) Office Circular 
 
 
 



 

 

 
 
 
12. Format of…………………….differ from company to company 
(a) Office Order 
(b) Memo Report 
(c) Office note 
(d) Office Circular 
 
 
 
 



 

 

 
 
 
13. .......................does not have salutation and complimentary close 
(a) Memo 
(b) Office Order 
(c) Office note 
(d) None of the above 
 
 
 
 



 

 

 
 
 
14. …………........is not a type of intra- organizational communication 
(a) Advertisement 
(b) Office Order 
(c) Office note 
(d) Office Circular 
 
 
 
 



 

 

 
 
 
15 …………………..letters are necessary to be written on a letter head 
(a) Office Notes 
(b) Representation to Management 
(c) Correspondence with Regional Office 
(d) Office Orders 
 
 
 
 



 

 

 
 
 
16. …………………are used commonly for issuing instructions to the staff 
(a) Memos 
(b) Office notes 
(c) Office order 
(d) None of these 
 
 
 
 



 

 

 
 
17. Office notes are exchange between different 
…………………departments 
(a) Three 
(b) Four 
(c) Five 
(d) Two 
 
 
 
 



 

 

 
 
18. Representation to management does not includes: 
(a) Individual Preference 
(b) Special holidays 
(c) Suggestions for transfers 
(d) Both (a) & (b) 
 
 
 
 
 



 

 

 
 
19. ……………………have a format Similar to that of memorandums: 
(a) Office notes 
(b) Office circulars 
(c) Office orders 
(d) None of the above 
 
 
 
 
 



 

 

 
 
20. Replies to representation can be: 
(a) Management could accept respect 
(b) May give an oral reply 
(c) Could issue an office order 
(d) All of the above. 
 
 
 
 
 



 

 

 
 
21. Disseminate means: 
(a) To cause faster or greater activity 
(b) Respectful request 
(c) Capable of being Perceived 
(d) To Scatter or spread widely 
 
 
 
 
 



 

 

 
 
22. The testing or a trial of a Person's conduct, character, qualifications or 
the like means: 
(a) Bipartive 
(b) Meritorious 
(c) Probation 
(d) Inter office 
 
 
 
 



 

 

 
 
 
23. Memo, report, office, circulars, staff newsletters, fax etc. are the form of 
(a) Non-verbal communication 
(b) Written communication 
(c) Oral communication 
(d) Audio-visual communication 
 
 
 
 



 

 

 
 
 
24. Which type of inter-departmental communication is used when 
requesting for transfer 
(a) Office Circular 
(b) Representation 
(C) Memorandum 
(d) Office Order 
 
 
 



 

 

 
 
25. Which type of inter-departmental communication is used for 
disseminating information to a large number of employees within an 
organisation? 
(a) Memorandum 
(b) Press release 
(c) Office circular 
(d) Office Order 
 
 
 



 

 

 
 
26. Which one of the following is correct about office notes? 
(i) Office notes are a form of internal communication between two different 
departments 
(ii) Office notes are put up by sections or departments to higher authorities r 
(iii) The actual layout of the office note is same for all the companies the 
correct option is: 
(a) (i) and (ii) only 
(b) (ii) and (iii) only 
(c) (i) and (iii) only 
(d) All of the above. 



 

 

 
 
 
27. ………………….are made in order to voice a grievance and to secure a 
relief. 
(a) Business Communication 
(b) Invoice 
(c) Public Notices 
(d) Representations 
 
 
 



 

 

 
 
 
28. the term …………has been misunderstood as a part of disciplinary 
proceedings 
(a) Purchase Order 
(b) External Letter 
(c) Call Letter 
(d) Memo 
 
 
 



 

 

 
 
29. Memorandums are preferred when one needs to convey information 
(a) Urgently 
(b) In writing 
(c) Telephonically 
(d) Verbally 
 
 
 
 
 



 

 

 
 
30. Which amongst the following is not included in memo? 
(a) Issuing instructions 
(b) Issuing suggestions 
(c) Making requests 
(d) Invitation of wedding 
 
 
 
 
 



 

 

 
 
 
31. office circular includes— 
(a) inviting suggestions 
(b) both a and b 
(c) insisting punctuality 
(d) None of the above. 
 
 
 
 



 

 

 
 
32. warning against strikes comes under_____. 
(a) Office order 
(b) office circular 
(c) memo 
(d) memo form 
 
 
 
 
 



 

 

 
 
33. what makes office order different from memorandum? 
(a) purpose 
(b) format 
(c) tone 
(d) both a and c 
 
 
 
 
 



 

 

 
 
34. in which of the following style and individual preference matter? 
(a) office order 
(b) memorandum 
(c) office notes 
(d)none of the above 
 
 
 
 
 



 

 

 
 
 
35. Growth is an index of prosperity in trade and industry: 
(a) True 
(b) false 
(c) partly true 
(d) partly false. 
 
 
 
 
 



 

 

 
 

NKJ CSEET MARATHON TEST SERIES -1 

                        LEGAL APTITUDE 
 
 
 
 
 
 
 

(1- 5 MCQs x 2 Marks = 10 Marks)  
(6 -20 MCQs x 1 Mark = 15 Marks) 



 

 

 
 
 
1. WHICH ARTICLE IS RELATED WITH “ABOLITION OF 
UNTOUCHABILITY”  
A) ARTICLE 20  
B) ARTICLE 19  
C) ARTICLE 18  
D) ARTICLE 17  
 
 
 



 

 

 
 
2. CONSTITUTION OF INDIA WAS ADOPTED BY CONSTITUENT 
ASSEMBLY ON?  
A. 25 OCTOBER, 1948  
B. 25 OCTOBER, 1949  
C. 26 NOVEMBER, 1948  
D. 26 NOVEMBER 1949  
 
 
 
 



 

 

 
 
3. WHICH ARTICLE IS RELATED TO EQUALITY BEFORE LAW?  
A. ART. 13  
B. ART. 14  
C. ART. 15  
D. ART. 16  
 
 
 
 
 



 

 

 
 
4. WHICH ARTICLE IS RELATED TO “EQUAL JUSTICE AND FREE 
LEGAL AID”? •  
A) ART. 39 •  
B) ART. 39 A •  
C) ART. 40 •  
D) ART. 41  
 
 
 
 



 

 

 
 
 
5. THE CONSTITUTION OF INDIA IS THE LENGHTIEST OF ALL 
CONSTITUTION OF THE WORLD  
A. TRUE  
B. FALSE  
 
 
 
 
 



 

 

 
 
 
6. IN WHICH CONSTITUTIONAL AMMENDMENT ACT SEATS OF LOK 
SABHA WERE INCREASED FROM 525 TO 545?  
A. 21ST CONSTITUTIONAL AMENDMENT ACT, 1967  
B. 24TH CONSTITUTIONAL AMENDMENT ACT, 1971  
C. 25TH CONSTITUTIONAL AMENDMENT ACT, 1971  
D. 31ST CONSTITUTIONAL AMENDMENT ACT, 1973  
 
 
 



 

 

 
 
 
7.WHICH OF THE FOLLOWING IS CALLED “MINI CONSTITUTION”  
A. GOVERNMENT OF INDIA ACT, 1935  
B. 42ND CONSTITUTIONAL AMENDMENT  
C. 44TH CONSTITUTIONAL AMENDMENT  
D. GOVERNMENT OF INDIA ACT, 1919  
 
 
 
 



 

 

 
 
 
8. WHICH WRIT IS ISSUED BY HIGH COURT OR THE SUPREME 
COURT TO COMPEL AN AUTHRITY OT PERFORM A FUNCTION THAT 
IT WAS NOT PERFORMING?  
A. WRIT OF CERTIOARI  
B. WRIT OF HABEAS CORPUS  
C. WRIT OF MANDAMUS  
D. WRIT OF QUO WARRANTO  
 
 



 

 

 
 
9.THE CONSTITUENT ASSEMBLY FOR UNDIVIDED INDIA FIRST MET 
ON  
A. 6 TH DEC, 1946  
B. 3 RD JUNE, 1947  
C. 20TH FEB, 1947  
D. 9 TH DECEMBER, 1946  
 
 
 
 



 

 

 
 
10. WHO AMONG THE FOLLOWING WAS NOT A MEMBER OF THE 
CONSTITUENT ASSEMBLY ESTABLISHED IN JULY 1946?  
(A) K.M. MUNSHI  
(B) J.B. KRIPALANI  
(C) MAHATMA GANDHI  
(D) VALLABHBHAI PATEL  
 
 
 
 



 

 

 
 
 
11. THE ‘VISION’ OF THE INSTITUTE OF COMPANY SECRETARIES OF 
INDIA IS  
(A) TO PROMOTE GOOD CORPORATE GOVERNANCE  
(B) TO BE A GLOBAL LEADER IN PROMOTING GOOD CORPORATE 
GOVERNANCE  
(C) TO DEVELOP HIGH CALIBRE PROFESSIONALS FACILITATING 
GOOD CORPORATE GOVERNANCE  
(D) TO BE A GLOBAL LEADER IN GOVERNANCE  
 



 

 

 
 
 
12. THE _____________ IS THE ONLY RECOGNIZED PROFESSIONAL 
BODY IN INDIA TO DEVELOP AND REGULATE THE PROFESSION OF 
COMPANY SECRETARIES IN INDIA.  
A. ICAI  
B. ICSI  
C. RBI  
D. ROC  
 
 



 

 

 
 
13.WHICH OF THE FOLLOWING ARE THE FUNCTIONS OF THE 
INSTITUTE OF COMPANY SECRETARIES OF INDIA?  
(A) EXAMINATION OF THE OF THE STUDENT  
(B) REGULATION OF TRAINING OF THE STUDENTS  
(C) CONDUCT OF ELECTIONS TO THE COUNCIL OF THE INSTITUTE  
(D) ALL OF THE ABOVEEGAL  
 
 
 
 



 

 

 
 
14.THE ICSI, ITS MEMBERS AND THE TEAM ICSI PLEDGE TO UPHOLD 
THE ESTABLISHED PRINCIPLES OF PROFESSIONAL ETHICS, VALUES 
AND STANDARDS AND WILL ALWAYS PROMOTE HONESTY AND 
TRANSPARENCY IN THEIR BEHAVIOUR, PRACTICES AND 
PROCESSES.  
A)ICSI  
 
B)MEMBERS OF ICSI  
C)TEAM OF ICSI  
D)ALL OF THE ABOVE  



 

 

 
 
 
15. MINIMUM NO. OF DIRECTORS IN CASE OF A PUBLIC COMPANY IS 
__________.  
A)1  
B)2  
C)3  
D)4  
 
 
 



 

 

 
 
 
16.______ IS THE CONCLUSIVE EVIDENCE IN CASE OF COMPANY 
THAT STATUTORY REQUIREMENTS HAVE COMPLIED WITH  
A) CERTIFICATE OF INCORPORATION  
B) CERTIFICATE OF COMMENCEMENT OF BUSINESS  
C) BOTH  
D) NONE OF THE ABOVE  
 
 
 



 

 

 
 
17. CAN A COMPANY HOLD AN AGM ON PUBLIC HOLIDAY?  
A) YES  
B) NO  
C) A) AND B) ARE CORRECT  
D) NONE OF THE ABOVE  
 
 
 
 
 



 

 

 
 
18. CAN SEC.8 COMPANIES ALTER THEIR OBJECTS CLAUSE  
A)YES  
B)NO  
 
 
 
 
 
 
 



 

 

 
 
19. A COMPANY IS NAMED AS GOVERNMENT COMPANY IF IT IS 
HOLDS ______% OF PAID UP SHARE CAPITAL  
A) MORE THAN 30  
B) MORE THAN 40  
C) MORE THAN 51  
D) NONE  
 
 
 
 



 

 

 
 
20.THEY ADVISE ON ARBITRATION, NEGOTIATION AND 
CONCILIATION IN COMMERCIAL DISPUTES BETWEEN THE PARTIES 
AND DRAFTING ARBITRATION/CONCILIATION AGREEMENT/CLAUSE. 
WHO IS ‘THEY’ HER 
A.PCA 
B.CS 
C.PCS 
D.LLB 
 
 



 

 

NKJ CSEET MARATHON TEST SERIES -1 

                     PRESENTATION SKILLS 
(1-10 MCQs x 2 Marks = 20 Marks)  

(11 -20 MCQs x 1 Mark = 10 Marks) 

1. Communication is a non stop______________. 
(A) paper                (B) process  
 
(C) programme     (D) plan 



 

 

 
   
2. Communication is a part of ________ skills. 
(A) soft 
(B) hard  
(C) rough  
(D) short 
 
 
 
 
 



 

 

 
 
 
3. The _______________ is the person who transmits the message. 
(A) receiver  
(B) driver 
 (C) sender  
(D) cleaner 
 
 
 
 



 

 

 
 
4._____________ is the person who notices and decodes and attaches 
some meaning to a message. 
(A) receiver  
(B) driver  
(C) sender  
(D) cleaner 
 
 
 
 



 

 

 
 
5. Message is any signal that triggers the response of a _________ 
(A) receiver 
 (B) driver  
(C) sender  
(D) cleaner 
 
 
 
 
 



 

 

 
 
6. The response to a sender’s message is called _________ 
(A) food bank 
 (B) feedback  
(C) food  
(D) back 
 
 
 
 
 



 

 

 
 
7. ___________ context refers to the relationship between the sender and 
the receiver 
(A) social  
(B) physical  
(C) cultural  
(D) chronological 
 
 
 
 



 

 

 
 
8. ___________ context refers to the similarity of backgrounds between the 
sender and the receiver. 
(A) physical  
(B) social  
(C) chronological  
(D) cultural 
 
 
 
 



 

 

 
 
9. _________ refers to all these factors that disrupt the communication. 
(A) nonsense  
(B) noise  
(C) nowhere  
(D) nobody 
 
 
 
 
 



 

 

 
 
10.Environmental barriers are the same as ______ noise. 
A) physiological  
(B) psychological  
(C) physical  
(D) sociological 
 
 
 
 
 



 

 

 
 
11. Our dress code is an example of _____________ communication. 
(A) verbal  
(B) nonverbal  
(C) written  
(D) spoken 
 
 
 
 
 



 

 

 
 
12.Communication strengthens _______ & ______________ relationship is 
an organization. 
(A) employer-father  
(B) employer-employer  
(C) mother-employer  
(D) mother-child 
 
 
 
 



 

 

 
 
13._______________ communication includes tone of voice body language, 
facial expressions etc. 
(A) non verbal  
(B) verbal  
(C) letter 
 (D) notice 
 
 
 
 



 

 

 
 
14.When there is similarity of background between the sender and the 
receives such as age, language nationality, religion, gender then this is 
called _____________ context. 
(A) social  
(B) cultural  
(C) physical  
(D) dynamic 
 
 
 



 

 

 
 
15.Letter, e-mail telephone are examples of __________ 
(A) message  
(B) feedback  
(C) channel  
(D) encoding 
 
 
 
 
 



 

 

 
 
16.Understanding __________different parts of speech forms the base of 
leaning grammar 
(A) Five  
(B) Eight  
(C) Six  
(D) Seven 
 
 
 
 



 

 

 
 
17.It is of paramount importance that one need to construct a 
__________sentence in the day to day affairs 
(A) Wrong  
(B) Correct  
(C) Incorrect 
 (D) Night 
 
 
 
 



 

 

 
 
18.A__________may be defined as the name of a person place or thing 
(A) Verb  
(B) Noun  
(C) Pronoun  
(D) Adverb 
 
 
 
 
 



 

 

 
 
19.According to hoben “communication is the _____ exchange of thought or 
idea. 
(A) Visual  
(B) Audio  
(C) Verbal 
 (D) Written 
 
 
 
 



 

 

 
 
20.The person who transmits the message is called the ____ 
(A) Sender  
(B) Gives  
(C) Taker  
(D) Receiver 
 

 

 



 

 

 

         NKJ CSEET MARATHON TEST SERIES -1 

                     LOGICAL REASONING 
(1-10 MCQs x 2 Marks = 20 Marks)  

(11 -15 MCQs x 1 Mark = 05 Marks) 

 
 



 

 

 
 
 
1. 295 Pens are divided among some boys and girls whose total number is 50 so that 
each boy gets 5 Pens and each girl get 8 Pens.  
The number of girls is  
a. 15  
b. 20  
c. 25  
d. 28  
 
 



 

 

 
 
2. . Rahul and Sanjay are the sons of Sister of Mukesh. How is the only son of 
Mukesh related to Sanjay?  
a. Cousin  
b. None of these  
c. Newphew 
d. Uncle  
 
 
 
 



 

 

 
 
3. 280 oranges are divided among some boys and girls whose total number is 50 so 
that each boy gets 5 oranges and each girl get 7 oranges.  
The number of girls is  
a. 15  
b. 35  
c. 30  
d. 20  
 
 
 



 

 

 
 
 
4. Choose the word which is not similar to the other words in the group.  
a. CPU  
b. Key Board  
c. Mouse  
d. Digital Pen  
 
 
 
 



 

 

 
 
 
5. Choose the word which is not similar to the other words in the group.  
a. Cup  
b. Mug 
c. Glass  
d. Jug  
 
 
 
 



 

 

 
 
6. A correct clock shows 10 o'clock in the morning. Through how many degrees 
will the hour hand rotate when the clock shows 4 o'clock in the afternoon?  
a. 160°  
b. 150°  
c. 144°  
d. 180°  
 
 
 
 



 

 

 
 
7. An accurate clock shows 11 o'clock in the morning. Through how many degrees 
will the hour hand rotate when the clock shows 7 o'clock in the evening?  
a. 180  
b. 220  
c. 190  
d. 240  
 
 
 
 



 

 

 
 
 
8. ABC, EFG, IJK, MNO, …. ? 
a. CAT  
b. HNE  
c. STN  
d. QRS  
 
 
 
 



 

 

 
 
 
9. What will come in place of Question Mark? 12, 25, ?, 103, 207  
a. 49  
b. 42  
c. 51  
d. 39  
 
 
 
 



 

 

 
 
10. Arrange the words given below in a meaningful sequence.  
1. Tree 2. Chair 3. Logs 4. Wood  
a. 1,3,4,2  
b. 1,2,3,4  
c. 4,3,2,1  
d. 1,2,4,3 
 
 
 
 



 

 

 
 
11. Arrange the words given below in a meaningful sequence from Higher Court to 
Subordinate Court  
1. District Court 2. High Court 3. Judicial Magistrate - 1st Class 4. Supreme Court 
5. Judicial Magistrate – 2nd Class  
a. 4, 2, 1, 3, 5  
b. 1, 2, 3, 4, 5  
c. 2, 3, 1, 5, 4  
d. 2, 1, 3, 5, 4  
 
 



 

 

 
 
12. Arrange the words given below in a meaningful sequence.  
1) Seed  
2) Fruits  
3) Tree  
4) Plant  
a. 1, 2, 3, 4  
b. 1, 4, 3, 2  
c. 2, 3, 4, 1  
d. 2, 3, 1, 4  
 



 

 

 
 
13. A man said to a lady, "Your son is the nephew of my only brother". What is the 
lady to the man. 
a. Grand father  
b. Mother  
c. Wife  
d. Maternal aunt  
 
 
 
 



 

 

 
 
14. If in a certain language, SANJAY is coded as TBOKBZ, how is ROGER coded 
in that code?  
a. SPHFS  
b. SPTDR  
c. SHTSS  
d. JKLPO  
 
 
 
 



 

 

 
 
15. AB, EF, IJ, MN __________. What is next in the series?  
a. AT  
b. AC  
c. GK  
d. QR 
 
 
 
 
 



 

 

 

                  ECONOMICS  AND BUSSINESS ENVIRONMENT 
 
1 C 2 B 3 D 4 C 5 A 
6 C 7 A 8 B 9 D 10 A 
11 A 12 B 13 A 14 A 15 BOTH 

B AND 
C  

16 D 17 A 18 A 19 B 20 C 
21 D 22 A 23 D 24 D 25 B 
26 A 27 D 28 A 29 A 30 C 
31 C 32 D 33 D 34 C 35 A 
 
 



 

 

 
 
 
 
 

                                       CURRENT AFFAIRS 
 
1 B 2 B 3 C 4 D 5 A 

6 D 7 D 8 D 9 C 10 B 

11 C 12 D 13 B 14 C 15 A 

 
 
 



 

 

 

                               BUSSINESS.COMMUNICATION  
 
1 B 2 C 3 C 4 D 5 B 

6 B 7 A 8 D 9 B 10 C

11 A 12 C 13 A 14 A 15 C 

16 A 17 D 18 A 19 C 20 D 

21 D 22 C 23 B 24 D 25 C

26 A 27 D 28 D 29 B 30 D 
31 C 32 C 33 D 34 C 35 A 
 



 

 

 

                                       LEGAL APTITUD 
 
1 D 2 D 3 B 4 B 5 A 

6 D 7 B 8 C 9 D 10 C 

11 B 12 B 13 D 14 D 15 C 

16 A 17 B 18 B 19 C 20 C 

 
 
 
 
  



 

 

                                            PRESENTATION SKILLS 
 
1 B 2 A 3 C 4 A 5 A 

6 B 7 A 8 D 9 B 10 C 

11 B 12 B 13 A 14 B 15 C 

16 B 17 B 18 B 19 C 20 A 

 
 
 
 
 
 



 

 

 
 

                                   LOGICAL REASONING 
 
1 A 2 A 3 A 4 A 5 D 

6 D 7 D 8 D 9 C 10 A 

11 A 12 B 13 C 14 A 15 D 

 
 
 
 
 
 


